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General Awareness
1). Which of the following is a part of the ‘Sutta
Pitaka'?
(a) Manu Smriti  (b) Dhammasangani

(c) Majjhima Nikaya (d) Dipavamsa

2). India observes ‘Good Governance Day’ on the
birth anniversary of

(a) BR Ambedkar (b) Atal Bihari Vajpayee
(c) Jai Prakash Narayan (d) Jyoti Basu

3). Which of the following Ministries releases the
‘Ease of Living Index’ in India?

(a) Ministry of Social Justice and Empowerment
(b) Ministry of Finance

(c) Ministry of Skill Development and
Entrepreneurship

(d) Ministry of Housing and Urban Affairs

4). ‘Shishu’ ‘Kishore' and ‘Tarun’ are the types of
loans under:

(a) Atal Pension Yojna

(b) Pradhan Mantri Rojgar Protsahan Yojna
(c) Pradhan Mantri Suraksha Bima Yojana
(d) Pradhan Mantri Mudra Yojana

5). A healthy individual has 12-16 grams of
hemoglobin in every ml of blood

(a) 10000 (b) 100000 (c) 100 (d) 1000

6). 'Siri’, the second city of Delhi, was built by

(a) Prithviraj Chauhan (b) Alauddin Khilji
(c) Firuz Shah Tughlag (d) Sher Shah Suri

7). One calorie of heat energy is equivalent to
approximately joules of mechanical
energy.

(@) 0.24 (b)4.2 (c)24 (d)0.48
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8). Which among the following books was written
by BR Ambedkar?

(a) Savitri  (b) Satyarth Prakash
(¢) The New Economic Menace of India
(d) Annihilation of Caste

9). The first Indian satellite, Aryabhata, was
launched on 19 April

(a) 1974 (b) 1975 (c) 1977 (d) 1976

10). 'The Name you can Bank Upon’ is the slogan
of which of the following banks?

(a) Punjab National Bank (b) State Bank of India
(c) HDFC Bank (d) Canara Bank

11). Which of the following ancient ports was
situated on the Malabar Coast?

(a) Barygaza (b) Tamralipti (c) Muziris
(d) Palur

12). The Sati Pratha was abolished under the
Governor- Generalship of:

(a) Lord Metcalfe (b) Lord William Bentinck
(c) Lord Auckland (d) Lord Ellenborough

13). Which among the following states does NOT
share its border with Odisha?

(a) Jharkhand (b) Chhattisgarh (c) West Bengal
(d) Bihar

14). The festival of Sekrenyi is celebrated in the
month of February by the Angami tribe of:

(a) Chhattisgarh (b) Maharashtra (c) Rajasthan
(d) Nagaland

15). Who among the following politicians used the
titte ‘Babu’ before his name?

(a) Morarji Desai  (b) K Kamraj (c) JB Kripalani
(d) Jagjivan Ram



16). “Joint Communiqué on Peace Framework”,
was recently seen in the news in the context of
which two countries?

(a) India and Nepal (b) Iran and Iraq

(c) India and China (d) Russia and Ukraine

17). With which sport among the following do you
associate the name of Mohan Ukkrapandian?

(a) Basketball (b) Volleyball (c) Kabaddi
(d) Hockey

18). Who has topped the recently released
'Environmental Performance Index 2024'?

(a) Denmark (b) Estonia (c) Finland (d) Jordan

19). 'mho’ is the unit of of a substance.
(a) Conductivity (b) Resistivity (c) Resistance

(d) Conductance

20). Which of the following books is NOT
authored by Nirad Chaudhuri?

(a) Scholar Extraordinary

(b) The Continent of Circe: An Essay on People of
India

(c) Autobiography of an Unknown Indian
(d) A Passage to India

21). The Sahitya Academy Award was instituted in
the year

(a) 1992 (b) 1989 (c) 1960 (d) 1954

22). Recently, former Governor of which state
Muralidhar Chandrakant Bhandare has passed
away?

(a) Kerala (b) Karnataka (c) Odisha

(d) Tamil Nadu

23). Lal Bahadur Shastri served as the Prime
Minister of India from to

(a) 1980; 1984 (b) 1966; 1977 (c) 1964; 1966
(d) 1977; 1979

24). The mouth of which of the following rivers lies
to the north of the Tropic of Cancer?

(a) Mahanadi (b) Krishna (c) Godavari
(d) Indus

25). India joined the United Nations after ratifying
the UN Charter in

(a) December 1945 (b) February 1946
(c) May 1946 (d) October 1945

26). Which of the following represents an alpha
particle?

(@ (b) (c) (d)

27). Which of the following places is closest to the
Hemis Monastery?

(a) Dharamshala (b) Darjeeling (c) Leh
(d) Gangtok

28). Which of the following states came into being
as the 23rd, 24th and 25th states of the Indian
Union in 19877

(a) Manipur, Tripura, Meghalaya

(b) Mizoram, Arunachal Pradesh, Goa

(c) Uttarakhand, Jharkhand, Chhattisgarh
(d) Maharashtra, Gujarat, Rajasthan

29). The first Star Guild Awards ceremony was
held in Mumbai in the year:

(a) 2006 (b) 2004 (c) 2005 (d) 2007

30). 30°Celcius =
(a)-30 (b)-243 (c) 130 (d)303

Kelvin (approximately)

31). How many medals in total did India win at the
Summer Olympic Games, 20127

(@6 (b)4 (c)3 (d)2

32). In the context of Convention on Biological
Diversities, the eleventh meeting of the

Conference of the Parties was held in October
2012 at:

(a) Shanghai (b) Hyderabad (c) Kandy
(d) Dhaka

33). Kudumbashree is a programme implemented
by the State Poverty Eradication Mission

(SPEM) in



(a) Odisha (b) Gujarat (c) Andhra Pradesh
(d) Kerala

34). Which of the following dams is constructed
across the river Krishna?

(a) Tehri (b) Hirakud (c) Nagarjuna Sagar
(d) Bhakra Nangal

35). With symbols having their usual meanings,
which one among the following is used as the
standard for defining atomic mass unit?

(@)H-1 (b)N-14 (c)C-12 (d)O-8

36). The Mangalyaan mission was launched by
the rocket:

(a) GSLV MkKIll (b) PSLV-C38 (c) PSLV-C35
(d) PSLV-C25

37). Recently, Lee Ji Geo of which country has
won the title of Australia Open Badminton
Champion?

(a) China (b) Japan (c) Malaysia (d) Canada

38). In the context of the banking sector, what
does 'F’ stand for in IFSC?

(a) In the context of the banking sector
(b) In the context of the banking sector
(c) In the context of the banking sector

(d) In the context of the banking sector

39). Recently, the Israeli Navy has received a new
landing craft from which country?

(a) Russia (b) America (c) France (d)Japan

40). The wetland of Ashtamudi is located in:

(a) Karnataka (b) Tamil Nadu (c) Assam
(d) Kerala

41). Which of the following water bodies is closest
to the Palk Strait?

(a) Mahim Creek (b) Gulf of Mannar
(c) Gulf of Khambhat (d) Chilika Lake

42). Who among the following had been given the
title of ‘Sultan Buland Igbal’ by Shah Jahan?

(a) Dara (b) Aurangzeb (c) Murad (d) Shuja

43). At which of the following places is the Nehru
Memorial Museum and Library located?

(a) New Delhi (b) Kolkata (c) Prayagraj
(d) Mumbai

44). Cathode rays are a beam of
(a) Positrons  (b) Neutrons (c) Electrons
(d) Protons

45). Who is the author of the book ‘Crossed
Swords: Pakistan, Its Army and the War Within'?

(a) Shashi Tharoor (b) SD Muni
(c) Shuja Nawaz (d) JN Dixit

46). The Indian Standard Time corresponds to the
longitude degrees East.

(a) 76.5 (b)85.5 (c)82.5 (d)79.5

47). ‘Those Days'’ is the translated version of a
Sahitya Akademi Award winning historical novel

originally written by:

(a) Bhartendu Harishchandra (b) Nandita Das
(¢) Sumitranandan Pant (d) Sunil Gangopadhyay

48). With reference to taxonomic categories, the
term ‘Mammalia’ is a/an

(a) Class (b} Phylum (c) Family (d) Order

49). The upward and downward growth of shoots
and roots, respectively, in response to the pull

of gravity is called

(a) Geotropism (b) Chemotropism

(c) Hydrotropism (d) Phototropism

50). Which of the following places is NOT
associated with the Kumbh Mela?

(a) Nashik-Trimbakeshwar (b) Ujjain

(c) Haridwar (d) Puri

Arithmetic

1). In three teams, which include A, Band C-A
team includes 5 boys, B team includes 7 boys
and C team include 4 boys. In how many ways 3
boys from A team, 5 boys from B team and 2
boys from C team be selected?



(a) 1260 (b) 1360 (c) 1460 (d) 1560

2). Athief is stopped by a policeman from a
distance of 350 metres. When the policeman
starts the chase, the thief also starts running.
Assuming the speed of the thief as 7 km/h and
that of police man as 12 km/h, how far the thief
would have run, before he is over taken?

(a) 490 metres (b) 392 metres (c) 588 metres
(d) 294 metres

3). 3/4 part of a tank is filled with oil. After taking
out 60 litres of oil, the tank is 2/3 part full. What
is the capacity (in litres) of the tank?

(a) 240 (b) 360 (c)600 (d) 720

4). If two successive discounts of 40% and 20%
are given, then what is the net discount?

(a)56 (b)68 (c)52 (d)60

5). By selling a table for Rs. 2700 a man gets
10% loss, and then at what price (in Rs) should
he sell to gain 331% ?

3

(a) 3000 (b) 3300 (c) 3600 (d) 4000

6). Find the Number of Factor of 1420
(a)12 (b)13 (c)14 (d)15

7). Aroom is 26 metres long and 10 metres
broad. Its floor is to be paved by square tiles.
What will be the least number of tiles required to
cover the floor completely?

(a)50 (b)55 (c)60 (d)65

8). In how many different ways, can the letters of
the word ‘SWEET’ can be arranged?

(a)60 (b)40 (c)64 (d)32

9). Atrain leaves from Meerut at 5 am and
reaches Delhi at 9 am. Another train leaves
Delhi at 7 am and reaches Meerut at 10: 30 am.
At what time do the two trains cross each other?

(a)7:36am (b)7:56am (c)8:26am
(d)7:15am

10). Two numbers are in the ratio of 15: 11. If
their H.C.F. is 13, find the numbers.

(a) 112and 200 (b) 135 and 214
(c) 214 and 600 (d) 195 and 143

11). Mitesh can type 9650 pages in 12 days
working 8 hours a day. Manish can type the
same number of pages in 8 days working 10
hours a day. In how many days, can they type
9650 pages if they work together for 8 hours per
day?

(a) 60/11 days (b) 50/11 days (c) 6 days
(d) 5 days

12). Four traffic lights blink at the interval of 4 sec,
6 sec, 8 sec and 16 sec. If they blink together
now, after what time will they blink together
again?

(@) 12sec (b)24 sec (c) 1 hour (d) 48 sec

13). The price of sugar is decreased by 10%, By
what percent can a person increase the
consumption so that there is no change in the
expenditure?

@ 190% (b) 1999% (c) 1909 (d)10%
11 11 9

14).
63.5 % 63.5X 63.54+ 36.5X 36.5x% 36.5

6.35 X 6.35— 6.35 X 3.65 + 3.65 X 3.65
is equal to:

(a) 100 (b) 1,000 (¢)1, 00,000 (d) 10,000

15). |fa+b +c=8and a’+ b%+ c?=24, then the
value of ab + bc +ca is

(@a)-20 (b)20 (c)-18 (d)18

16). If the radius of a right circular cylinder is
decreased by 20% while its height is increased
by 40%, then the percentage change in its
volume will be:

(a) No increase or decrease (b) 1. 04% increase
(c) 10. 4% increase (d) 10. 4% decrease

17). The average weight of 50 students in a class
was 35 kg. Later it was found that the weight of
one of the student was calculated as 5 kg more
by mistake. Find the actual average weight of
the class.

(a) 34.9kg (b)35.1kg (c)36kg (d)33.4 kg

18). In office of Mr A, the average age of all the 52
employees is 24. There are three types of
employees, i.e., officers, clerks and peons. If the
age of each officer, each clerk and each peon
had been 1 year, 3 years and 6 years more
respectively, then the average age of the whole
staff would have been 3 years more. If the



number of clerks is a square root of a three-digit
number which is also a perfect cube, then the
number of officers in the office is:

(a) 12 (b)17 (c)27 (d) None of these

19). |fa® — b3 =899 and a — b = 31, then (a—
b)2 + 3ab is equal to:

(a)35 (b)31 (c)16 (d)29

20). Aand B are two sets having 3 elements in
common. If n(A) = 5, n(B) = 4, then what is n(A x
B) equal to?

(a)0 (9 (c)15 (d)20

21). A number is such that when divided by 3, 5,
6, or 7 it leaves the remainder 1, 3, 4, or 5
respectively. Which is the largest number below
6000 that satisfies this property?

(a) 5820 (b) 5920 (c)5878 (d) 5668

22). Ved deposited Rs. 15600 at the rate of 10%
per annum at simple interest. After every second
year, he adds his interest earnings to the

principal. The total interest at the end of 4th year
is:

(a) Rs. 6864 (b) Rs. 7430 (c) Rs. 6300
(d) Rs. 5400

23). Let x be the least number divisible by 13,
such that when x is divided by 4, 5, 6, 7, 8 and
12, the remainder in each case is 2. The sum of
the digits of x is:

(a)10 (b)11 (c)9 (d)8

24). A man spendszrd of his income. If his
3

income increases 'by 14% and the expenditure
increases by 20%, then the percentage increase
in his savings will be

(a) 6% (b)2% (c)4% (d)1%

25). Adealer allows 25% discount on the marked
price of an article and gains 20%. If the cost
price of the article increases by 20%, how much
discount percentage should he allow on the
marked price so as to earn the same percentage
of profit as before?

(a) 8.5% (b)10% (c) 12% (d) 7.25%

28). The average of twelve numbers is 45.5. The
average of the first four numbers is 41.5 and
that of the next five numbers is 48. The

10" humber is 4 more than the 11" number and
9 more than the 12" number. What is the
average of the 10t and 121" numbers?

(a) 47 (b)46 (c)47.8 (d)46.5

27). Two chords AB and CD of a circle are
produced to interest each other at a point P
outside the circle. IFAB =7 cm, BP = 4.2 cm and
PD = 2.8 cm, then the length of CD is:

(a) 15.8cm (b)146cm (c)12cm (d) 14 cm

28). The ratio of the ages of two personis 3 ; 4. If
the age of one of them is greater than the other
by 8 years, then what is the sum of their ages?

(a) 54 years (b) 58 years (c) 60 years
(d) 56 years

29). Milk and water are mixed in vessel A in the
ratio of 5:7 and in vessel B in the ratio 2 : 1.
Now, a new mixture of 18 litre is made by mixing
quantities of vessel A & B such that milk and
water ratio in new mixture becomes 5:4. Find
quantity of vessel B in new mixture.

(a) 12 litres (b) 15 litres (c) 11 litres
(d) 10 litres

30). The distance between the house
of Shyam and his school is 120 km. While going
to school on Monday, he was late by 1.5
hours. So he decided to increase his speed by 4
kmph on Tuesday and thus he reached his
school on time. What is the percentage change
in the speed of Shyam on Tuesday with respect
to Monday.

(a) 25% (b) 30% (c)20% (d) 22%

31). 18 men built a ship model in 7 days. How
many days would it take for 15 men?

(@87 ()85 (c)84 (d) *3
5

32). Suman borrowed a sum of Rs. 45000 on
simple interest. Madhu also borrowed the same
amount on compound interest. At the end of two
years, both of them repaid their borrowed
amounts. However, Madhu had to pay Rs. 648
more than Suman. Find the rate of interest:

(@) 12% (b) 10% (c) 14% (d) 16%

33). The fourth proportional to 0.15, 0.27 and 16
is

(a) 22.6 (b)33.7 (c)25.5 (d)28.8



34). In an alloy, 24 grams of zinc is mixed with 72
grams of copper. X gram of total mixture is taken
out and 16 gm of zinc and 24 gm of copper are
added. The final mixture has 70% copper. Find
the quantity of the mixture that was taken out
from the alloy ?

(a)12gm (b)10gm (c)16gm (d) 18 gm

35). If 143 = 11.96 then the value of

Vi3 +411

13-+/11
(a) 13.96 (b) 23.96 (c)22.96 (d)25.96

General Intelligence & reasoning

1). Each consonant in the word CORDIAL is
changed to the previous letter in the English
alphabet and each vowel is changed to the next
letter in the English alphabet and the letters, so
obtained are rearranged in alphabetical order.
Which of the following will be the second from
the right end after the rearrangement?

(@Q (MK ()P (d)B

Directions: Each of the following questions
consists of a question and two statements | and
Il. You have to decide whether the data given in
the statements are sufficient to answer the
question. Read both the statements

2).
Among A, B, C, D and E, each having scored
different marks in an exam, who has scored the
lowest marks?

I. D has scored more marks than only three of
them.
Il. A has scored more marks than only E.

(a) Data in statement | alone are sufficient to
answer the question, while the data in statement Il
alone are not sufficient to answer the question

(b) Data in statement Il alone are sufficient to
answer the question, while the data in statement |
alone are not sufficient to answer the question

(c) Data either in statement | alone or in statement
[l alone are sufficient to answer the question

(d) Data given in both the statement | & Il together
are not sufficient to answer the question

3). Aperson moves 400 metres to East. He turns
to his left and moves 400 metres. Then again,
he turns to his left and walks 400 metres.
Finally, he turns to his right and moves 100
metres. Now, how far away in metres, is he from
the starting point?

(a) 1300 (b) 200 (c) 800 (d) 500

4). In the following question, some statements
followed by some conclusions are given. Taking
the given statements to be true even if they
seem to be at variance from commonly known
facts, read all the conclusions and then decide
which of the given conclusions logically follows
the given statements.

Statements:

1) All parrots are chicks.

2) All birds are chicks.
Conclusions:

I. Some birds are parrots.
Il. Some chicks are parrots.

(a) Both conclusion | and conclusion Il follow
(b) None of the two conclusions follows
(c) Only conclusion | follows

(d) Only conclusion Il follows

5). Raj is facing north, he cycles for 8 km, then
turns towards the southeast direction to move
10 km and from there, he moves 6 km towards
the west. In which direction/place, is he from his
original position?

(a) North (b) East (c) West
(d) At the original position

6). Aseries is given with one term missing. Select
the correct alternative from the given ones that
will complete the series.

10, 17, 25, 37, 58, 95, ?

(a) 150 (b) 157 (c) 105 (d) 127

7). Ram is facing towards the south. He turns to
his left and moves 40 km, and then turns to his
right and moves 50 km more. Finally, he turns to
his left again and moves 60 km. Which direction
is he facing now?

(a) East (b) West (c)North (d) South

8). Rohit's birthday is on Tuesday 15" March. On
what day of the week will be Priya's birthday in
the same year if Priya was born on 28th August
and the year was a leap year?

(a) Monday (b) Tuesday (c)Friday (d) Sunday

9). Which answer figure will complete the pattern
in the question figure?

I'r\'\
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(a) \Q (b) \;k (c)
(d) \Q

10). Which answer figure will complete the pattern

in the question figure?

“~d

(a) (b) | 2

(d)

11). Six people are sitting in two parallel rows

containing three people each, in such a way that

there is an equal distance between adjacent

persons. Inrow 1, A, B and C are seated and all

of them are facing south. Inrow 2, P, Q and R
are seated and all of them are facing north.
Therefore, in the given seating arrangement
each member seated in a row faces another
member of the other row. A is an immediate
neighbour of C who is opposite to P who is at
immediate left of Q. A is one of the extreme
rights ends.

Who is opposite to Q?

(@) (A) (b)(B) (c)(C) (d)(D)

12). A series is given with one term missing.
Select the correct alternative from the given
ones that will complete the series.
3,4,6,8,12, 14,18, ?

(@21 (b)22 (c)20 (d)24

13). In the following question, select the missing
number from the given alternatives.

1331 1728

2744 ?

(a) 2295 (b) 2096 (c) 2197 (d) 2744

14). In a certain code language, "MATHS-TET" is

written as "16". How is "BOOK-BOY" written in
that code language?

(@1 (b)2 (c)3 (d)4

15). Which letter will replace the question mark(?)
in the following series?
V,A,H,Q B,?

@P ()G (O (d)S

16). There are 200 individuals with a skin
disorder, 120 had been exposed to the chemical
C1, 50 to chemical C2, and 30 to both the
chemicals C1 and C2 . Find the number of
individuals exposed to Chemical C1 but not
chemical C2.

(a)90 (b)50 (c)30 (d)120

17). After starting from his house. Naren walked a
few meters towards the east. From there, he

took a right turn and walked 80 m, and then took

a left turn and walked 20 m. Finally, he took a
right turn again and walked 40 m to reach the
hospital, if the air distance between his house
and the hospital is 130 m. how far did Naren
walk towards the east initially?

(a)50m (b)25m (c)40m (d)30m

18). Select the correct mirror image of the given
figure when the mirror is placed on the right of
the figure.

S
©-B
B &

19). Given is a set of three X, Y and Z, showing
the folding sequence of a piece of paper. Fig Z
shows the manner in which the folded paper has
been cut. Study these figures carefully and
select the option that would most closely
resemble this piece of paper when unfolded.
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20). Select the Venn diagram from the options
which represent the relationship among the
given words.

Indonesia, Asia, Bangladesh

@) @ 01 (b)

(c) OOO (d) @

21). Select that option which is embedded in the
question figure.

X
@ O | ® [><| (©)
(d)-|Q

22). Select the option in which the given figure is
embedded.

e N
"

(¢)

23). Select the Venn diagram that represents the
correct relationship between the following
classes:

Table, Stationery, Carpet

@ OO0 ® © @

24). The sequence of folding a piece of paper and
the manner in which the folded paper has been
cut is shown in the following figures. How would
this paper look when unfolded?

25). From the given options, select the figure
which is embedded in the following figure
(rotation is NOT allowed).

(o) jH3

26). Select the word-pair in which the two words
are related in the same way as the two words in
the given word-pair.

Ice cream : Freezer



(a) Coal : Water (b) Table : Chair

(c) Money : Mine (d) Arrows : Quiver

27). In a certain code language, R is written as J,

M is written as U, A is written as K, Y is written
as C, | is written as F and P is written as B .
How will ‘PRIMARY’ be written as in that
language?

(a) BJFUKJC (b) BJFUKLD (c) HEGUKJC
(d) BJSREJC

28). There are five different cottages, Mto Qin a

row. M is to the right of N and Q is to the left of
O and right of M. N is to the rlght of P. The first
cottage from the left is

(@M (BN ()P (d)Q

29). In the following question, select the related

word from the given alternatives.

Steel : Alloy :: Zinc : ?

(a) Metal (b) Non-metal (c) Salt (d)Halogen

30). In the following question, one statement is

followed by two Assumptions | and II. You have
to consider the statement to be true, even if they
seems to be at variance from commonly known
facts. You have to decide which of the given
assumption(s), if any, follow(s) from the given
statement.

Statement: “If you disturb me, | will complain to
the teacher” a student warns his friend.

Assumptions:

I. With the warning, the friend may stop
disturbing him.

Il. All friends are arrogant.

(a) If only assumption | is implicit.
(b) If only assumption Il is implicit.
(c) If neither | nor Il is implicit.
(d) If both | and Il are implicit.

31). Aquestion and three statements labelled (I),

(I1y and (lll) are given. You have to decide which
statement(s) is/are sufficient to answer the
question.

Question: Ram, Sham, Vinit, Aman, and Manish
are sitting in a row. Who is sitting the middle?

Statements:

|. Sham is between Manish and Vinit.
Il. Sham is to the right of Manish.

I1l. Aman is between Ram and Manish.
(a) Only statement | is sufficient.
(b) Statement Il and Ill together are sufficient.
(c) Data is not sufficient.

(d) Both I, Il and Il together are sufficient.

Read the information carefully and answer the
questions below.

Eight persons, i.e., A, F, G, I, N,Q,Uand Z
were born in eight different years, i.e., 1955,
1956, 1971, 1983, 1995, 1996, 2004 and 2011.
All the information is not necessarily in the same
order. All the ages of the given persons have
been calculated on the base year 2020. A's age
is not a perfect square and he is not the eldest
person. Only two members were born between
Aand G who is elder than A . Q was born after A
and his age is an even perfect square. | is
younger than Q. Ais younger than U whose age
is an even number. Only three members were
born between U and F. Z is younger than A.

32).
Find the odd one out.

@Q (A () (dN

33). Who amongst the following was born after F
and before 1?

(a) Who was born in the year 1983
(b) Whose age is 16 years
(c) Who was born in the year 1995
(d) Whose age is 49 years

34). What is the age of the one who was born
immediately before F?

(a) 25 years (b) 37 years (c) 65 years

(d) 49 years

35). If the word CREATIVE is coded as
51483674, the word REAL is coded as 1489,
then how will word LITTLE be coded?

(a) 966394 (b) 963394 (c) 963994 (d) 969394



